Name: L{,\] Hour: Date:

NOTES: Section 10.4 - Solving Quadratic Equations in
Factored Form

Goals: #1 - | can solve quadratic equations in factored form. 'v' i N
Homework: Section 10.4 Worksheet

Notes: |
When two or more numbers are m\l \ n p ‘ \ Q.d ~__ each ofthe numberisa

to iy of the ?YO(LUU’
A ?0\“V\“ m\ M isin JFQU'QY e (i form if it is written as the

?YO(IJU U' of two or more ’E(LU'QVS

Examples: (x-fa(x -—3):0 X (X'S\:D
R s N - —

PO go(tor  gpcror fackor

To solve these equations, set the quadratic equation equal to [ ) and use the Z F P :
e Zero Product Property:

It b0, tnen =0 o p-0

Example #1: Solve the equation.

1. (x=2)(x+3)=0 2. x(x—=2)=0
N Y L AW
x-2:0  X+3:=0 —51 x-2=0

y2 * L -3 -3 t, v
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Name:

Example #2: Solve the equation.

1. (x+5)=0

(x+5)(x19)=0

\Y L
x+%5=0 x+r95=0
,5 -9 -5 -5
- X:-5
1 Sov € 0.0Ho0

You practice: Solve the equation.

1. 2x=-1D(x+7)=0

Ix-1-0 % +71=0
+ +| -1 -1
1=l
Z L
x= 1z

3. (x+1)2=0
(x+D(x+1) =0
X11=0 NINARE
oo fecrdr
|%="|

B il

Example #2: Solve the equation.

1. 2x+1)Bx-2)(x=1)=0

>
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/xt1=0  3x2=0 Xx-1=0
=] =) y72+2 ¥} 1)
el ez xe]
L = % 3,

1 2
[ x=3

x5

Hour:

Date:

2. (4x-1)2=0

(4x-D(9x-1)=0

N S
YX +l‘ '?’ o (tor
Yx=1
EER
x= 14
2. (a—4)2=0
(a-)a-1) =0
LS
L470 T eycror
|a=Y
4 (x+8)x+1)=0
x+4+-0 x+)=0
-4 -y -
\x =" ) | k=]

2. (y-3)2(2y+3) =0
3)(4-3) (24 +3)=0
\5%3 0\1 énkff“‘\j 11\513 o
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Name: Hour:
You practice: Solve the equation.
1. (x—-4)(x+6)(4x+3)=0
X470 Xxtb=0 HYx+3:=0
Y4 Y -0 -V -3 =5
q9 ¢
-3
X= %

Date:

2. 2x+1D)(x-8)2=0

41 =0 A-% =0
-y - +g + ¥
Kb

ZK: ‘J__ =
=

e

Exploration #2: Graph y = (x + 4)(x + 2) using a table of values.
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Notes:

We can use the following properties to graph any quadratic function in %0\

\

y=a(x-p)x—q)

The graph opens

V)]
!

The P\QS.’ \‘U HX
%= T

It has the equation

is halfway between

1. What are the x-

intercepts?
-4 -2
2. What is the AOS?
A=-3

3. What do you notice

about your graph?

) A
L form.

if (S t and opens (XQ\UH if (S —
The X'\nKYK(!]h are ? "GL
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Scanned by CamScanner



Name:

Example #3: Graphy = (x + 3)(x — 1).

x-intercepts: ’?L, \
nos:_ X ="
Vertex: (’\, “LD
opens: _\)D

X B -—3

Sl
-5

PR

You practice: Graph y = (x — 1)(x — 6).

xeintercepts: L, A0
pos: X =99
vertex: (3.5, -1.25)
Opens: U‘D

s Pf:jif;f)

v [0 -4 [
B R A G I 3 R B

)< = E—L_ = =5 % 7 ¢
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